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Math 2201 Chapter 6 Review Sheet
Part 1 - Multiple Choice
s
I Which description of a graph appears to represent a quadratic relation?
a.aline straight up and down
b. an ellipse
¢.a parabola opening up
d.a parabola opening to the right
g\«*”{%w// P . . .
20 Which relation is quadratic?
a. y=x"+ 10x + 23 ¢ y=2x3+x?
b. vy =4x+2 d. y= —-4x+3
f‘”’"}{; )
“ ~ 0 What s the p-intercept for p = 3x + 2y — 52
4. -3 3 c. 2 d. 3
|
§«~ 4. Which parabola opens upward?
a. y=2x —4x* -5 c. y=4-2x*-5x
b, v =2+4x — 5x? d. y= —=5x+4x* +2
5 Which set of data is correct for this graph’
Set Axis of Symmetry Vertex Domain Range f
T N -5
A. vl (-2, 6) xeR y <2
1. N (~6, -2) v ER
C. v oD (=2, -6) y =6
D. Y= (2,6) y<-6
4 Set A ¢. SetC
b SaB d. SetD
A | ‘ . o . .
6. Whatare the v- intercepts for the function fx) = x? ~2x — 3?2
a X = -3 x = 1 ¢. x = 0,x =3
b, no x-intercepts d x=-1,x =3
Y70 What are the x- and yemitercepts for the tfunction fx) = x* — 2x — §2
a. no x-intercepts, y = 8 ¢. x = ~2,x =2y =-8
b. x = -2,x = 4,y = -8 d x=-2x =4y =38
8. The points (-2, 4) and (1. 4) are located on the same parabola. What is the equation for the axis of symmetry
tor this parabola?
a. x = —1.5 ¢. x = 0.5
b. x = —~05 d. ox = -1
Y. What is the correct factored form of the quadratic f(x) =x% - 5x+6?

a. f(v) = (x+2)(x+3)

i

b f(0)

(x = 2)(x+3)

I

c. f(x)

x+2)(x-3)
d f(x) = (x=2)(x—-3)




10. Which set of data is correct for the quadratic relation f{x) = (v + 2)(x + 43?

x-intercepts p-intercept Axis of Symmetry Vertex
A. (2,0),(4,0) y=8 x=4 (4, 48)
B. (=2, 0). (-4, 0) y=-8 x=-4 (-4, 0)
C. (-2, 0), (4, 0) y=8§ x=-3 (~3,~1
D. (2,0).(4,0) y=§ x=3 (3,.35)
a. Set A c. SetC
b. SetB d. SetD
,,,,,,, ,
A ) i /)
-f‘: 1. Which relation is the factored form of fx) = x? + 8x — 97 ()( ’F’] )Qx
a f(x) = (x+1D(x-9) ¢. fx)=(@x~-1x-9)
b f(x) = (x=D(x+9) d f(x) = x+Dx+9) 7
~ ” 12, For the quadratic equation, y = x> 6x + 1, what is the vertex? .w/) ”> “2{ g)
a. (3.-8) c. (3, 7 V
b. (-3.28) d. (-3.D) g
'f&_ﬁ_ 13, For the quadratic equation, y = x* - 8x + 1, what is the equation of the axis of symmetry? - }:ﬂ
a. x=-4 c. x=-8 g 20
b, x=4 d x=8
2 . 2
14 For the graph of: y=(x-3)(x+5), what is the equation of the axis of symmetry? ) S e -
a. X = '3 S/ C. X = 3 3&:{) J:w.}«; ‘M“Mn s
b. x=-] =% = d x=5 —do
% / X ¥
' 10+
kf_’/w I5. What is the range of the quadratic function graphed to the right? z'
vy ]
a. {yly =9,y €R) ) yly <9y eR} o
b {yly =-1LyeR} d. {ylyz-1LyeR} 5T
4‘
3
() 2t
& ]
v 160 What is the y-intercept of the quadratic function graphed above? <+ /4
a. y=-4 c. y=2
b, y= d. y=-§
;i_"“"”“”‘“_ 17, Which quadratic fuhction graphed below has a minimum value of -4?
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Part 11
1. Write the domain and range for each parabola below:
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Range: z? o £ S Range:_\./
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2. Complete the following chart.
y=—2(x+1)%~ —-3(x-:3) + 4

a)Vertex= (=]« K7 a) Vertex = { 'i’% R

b) Axis of symmetry: W - | b) Axis of symmetry: s

c)Range: () & = c)Range: (f ) s =7 Lo

d) Direction of opéenvng' g"“‘“j; N d) Direction of opening: e |

« e) Maximum or minimum: Wzﬁ, aveE’S

3. Write the equation of the quadratic function, in vertex form, y=a(lx—-h)*+k,

given the following information:
Vertex at (3, -4) and passing through the point (1, -2)
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4. Write the equation of the quadratic function, in factored form, y = a(x — r) (x —s),

given the following information:
x-intercepts at (-1, 0) and (5, 0) and passing through the point (-3, 4)
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5. For the following equation in factored form, state the x-intercepts, the y-intercept, and the
equation of the axis of symmetry: y = 2(x — 1)(x + 3)

Xj:n«\n-:;:}zfzil - R l\x\_& O‘fﬁ:jm
YT = 9T 28 (043) |4-3) = -2
mé i) [{n‘}\)(g‘)j Q >
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6. Sketch the graph of the following quadratic function: f(x) = =3(x ~ 1)* + 1 y
VEryex = (i\ \ j v
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A missile fired from ground level attains a maximum height of 180 m at 3 seconds. The missile is
in the air for 6 seconds
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Determine the quadratic function that models the height of the missile over time.



